B - T

SZ3D
Sensa Technology

EPRB-2 7%l
BT %E

151

« 5SST304%017- 43RS

- SHEDEORE

» ShEREESTIRRAREL PTIE

« B ERASEERIP66

REEDIRE

E15EE(psi)  EJISBE(Bar) *E
0...100 0..7 .
0...150 0...10 .
0...250 0..16 .
0...500 0..35 .
0...1000 0...70 .
0...1500 0...100 .
0...2250 0...150 .
0...3000 0...200 .
0...5000 0...350 .
0...7500 0...500 .
0...10000 0...700 .
&F: HeHREEDEH ., SEEEw eS", &I .

A

« £%2 0..35~700 bar (0..500~10,000 psi)
* JRERMEATIRIT < 0.25%
« T{EEE -40..150°C (300°F)

- St
W
» FRIEIEE)
« HTEHR
o BENE
v
o AR
EIE “HE RBAE

Force | Pressure | Temperature | LVDT | Switch




EPRB-2 &%
. SZ3D :
Etﬁ ﬁ# | Sensa Technology ?,%&;_—:FIEJEjj Q&%%

TEREHIE

INEIRE:25°C(RRIFEBINEK),

88 =7\ BRNE BX =21y} &it
BE (AL, BiE, EfE) -0.25 £0.25 0.25 %F.S.BFSL @ 25°C
FRIRE 05 +0.5 0.5 %F.S.BFSL @ 25°C
HERRE 05 +0.5 0.5 %F.S.BFSL @ 25°C
BEE ((FEHENTI) 100 MQ @ 250VDC
EHERED 1X107 0~FS Cycles

IEES 2X 20k psi Rated

BIRED 3X 20k psi Rated

KHRRQEME(SF) -0.25 0.25 %F.S

GOKE -1 £1.0 1 %F.S IMSRESEER
*MERESTE -20 85 °C

TRERESEE -40 150 °C

EFRRESEE -40 150 9

g (RL) RL > 100k Q BB R
7z (RL) < (fEBEBE -9V) / 0.02A Q =Nkt
INFEERR 10 mA R
MR E] (10%ZE90%) <2ms (BERE) ; <3ms (BiRAL); THERE

fE At 17-4PH+SST304

HhE 50g, 11msec Half Sine Shock per MIL-STD-202G, Method 213B, Condition A
=5 +20g, MIL-STD-810C, Procedure 514.2-2, Curve L

giE:

MERE: FRrERAH SENRIELASEREEE, FHRSENEMRESEER.

TREE: FRr-ErmHSEDMRIELSRETEE, ErTErRSENETEEER.

EERE: RSB ENSRERANER T ZEMEHRIFELINRETEE. BHIRE R RN REMK A HRIA.
FrEE EHEAREIREE R AFNE AR,

CE=H]

Force | Pressure | Temperature | LVDT | Switch



EPRB-2 51
B - FFEE | 323D

R 255 58
R~ [mm]
YETRZ1 47 EEPRB- 2SRRI (FRAERE= 1m)
~"B" — 105041} ~-<8.0[0.34H=+~— 2.0(0.08] l—— Hex"C" —~
1 o
' | |
o (o
1 " 0 — @
= 1 9 =
= (=5
3 S
@ / 2
= 301.3X120° S
EDiEOXE
wS B A BB E"B" HEX"C" O-RING REAARE
N M5X0.8 8.2 (.323") 15.8mm(0.62") @3.5x1.5 FKM Fluoroelastomer* 1 Nm (2 Nm max.)
\% 10-32 UNF-2A 8.2 (.323") 15.8mm(0.62") @3.5x1.5 FKM Fluoroelastomer* 1 Nm (2 Nm max.)
S M8X1 8.2 (.323") 15.8mm(0.62") | @6.07x1.78 FKM Fluoroelastomer 2.5 Nm (5 Nm max.)
Q 5/16”-24 UNF-2A 8.2 (.323") 15.8mm(0.62") | @6.07x1.78 FKM Fluoroelastomer 2.5 Nm (5 Nm max.)
P M10X1 8.2 (.323") 15.8mm(0.62") | @7.65x1.63 FKM Fluoroelastomer* 3 3 Nm (6 Nm max.)
X 3/8”-24 UNF-2A 8.2 (.323") 15.8mm(0.62") | @7.65x1.63 FKM Fluoroelastomer* 3 3 Nm (6 Nm max.)
4 7/16”-20 UNF-2A 8.2 (.323") 18 mm (.71") | ©7.65x1.63 FKM Fluoroelastomer* 3 5 Nm (10 Nm max.)
W G 1/4A (BSP) 11.7 (.460”) 18 mm (.71%) Not Supplied 5 Nm (10 Nm max.)
Y 1/47-18 NPT 14 (.5517) 18 mm (.717) Not Supplied 5Nm (10 Nm max.)
E S4395E02 per AS4395
F AS4395E04 per AS4395
“ERE-20E120°C, HftrhiE&EaI
HEEREEO
Egy A" RTJ'"B" Rﬂ-ucu RT_]-"D" g @ ”B“ .
C e £
M5X0.8 5.6mm 15mm 0.2mm i 90 :
/‘"—&\ ]
10-32 UNF 0.22" 0.06" 0.01" \g/f >/ =
M8X1 8.8mm 1.9mm 0.4mm A
5/16-24 UNF 0.35" 0.075" 0.015¢ & %>‘
M10X1 10.4mm 2.0mm 0.4mm = é
3/8"-24 UNF 0.41" 0.077" 0.015"
7/116-20UNF 0.48" 0.086" 0.015" BELAT
-
I:II:I‘
B E VAR =R
. P AL
—_Y" Wk Al ]’%gﬁﬁﬁ@,
TSR . BT (4xAWG26) U3/U6/R3 15
SRR ARIEREEISMS: 158U3/U6/R3EY a +SUPPLY +SUPPLY
FRYFRIEERISNT: 1EI5M = -SUPPLY -SUPPLY
54 +OUTPUT T {RE8
=] -OUTPUT T {#E8

Force | Pressure | Temperature | LVDT | Switch




EIRCM1: M121%E258

26.0[1.02] ———=

"B 105 [041}—80[031] 6.0(0.23]

Hex "C"

°
2 b

o

= ,

|
fe—— (15.8[0.62) —=]

Thread A"

3-21.3X120°
CM1 aE
U3/U6/R3 15
1 +SUPPLY +SUPPLY
2 +OUTPUT T {RER
3 -OUTPUT T {RE
4 -SUPPLY -SUPPLY

BETICM2: BEMR(IEREREMIL-C 26482 MS3113H10-6P (PRI T{EERE125°C)
283[1.11]

B e 105041} 80 [031H-80[031] =1 Hex'C”

fe—— (15.8(0.62] —=]
o
©

Thread “A"

3-01.3X120°
CM2 7S
U3/U6/R3 15

A +SUPPLY +SUPPLY

B +OUTPUT T {RER

C -OUTPUT T {RE

D -SUPPLY -SUPPLY

E not used not used

F not used not used
e IR A
Y FRRERSKEE (fvE=1 m) 01" B ALK ARSI E (FIZ0L03M,LOSM, L10M...)
CM1 kRS M12 EfEEs
CM2 EREES MIL-C 26482 MS3113H10-6P (JRFT{ERE125°C)

Force | | Temperature |




AZ3D
Sensa Technology

B - i

EPRB-2 &%
HBE3IERS

iITaER

EPRB-2 - X U6 3 - 500P —/CM1

N  |M5x0.8 LOOM
V. |10-32 UNF /CM1
S M8x1 /ICM2
Q [5/16-24 UNF XX
P [m10x1
X |3/18-24 UNF
W |G1/4A
Y 1/4-18 NPT
Z 9/16”-20 UNF-2A
E  |AS4395E02 _
F AS4395E04 0.6B 10P
1B 15P
2B 30P
wS Hit fHEs, 3.5B 50P
I5 |4-20mA |10-30VDC 6B 100P
U3 |05-45V [8-32VDC 10B 150P
ue |[0-5V 8 —32VDC 20B 300P
_ 35B 500P
R3 I(‘)a.gom‘le.tii::/ 5 VDC reg. 0B ”P
100B 1.5KP
1 Gage 350B 5KP
3 Absolute 700B 10KP

Force | Pressure | Temperature | LVDT | Switch




